RIBEHREH B) ORMBRR [ERS]  (HEH)

RERH i R ERREAE ® B M @ =
RIEE B w4 () O3l iz (FF) AiREl (%) AEE (%) HEE (1) TEE (M)
& 5 P RO3—R04 RO3—R04 RO3—R04 RO3—R04
# B RO4 R02 RO3 | RO4 RO2 RO3 RO4 b3 R02 R03 RO4 i R02 RO3 RO4 R R02 R03 RO4 139
1 ®ROBM W (e} — 3 630 | 630 | 650 7.56 7.56 1.65 A - - - 24,360 | 24,360 | 25,790 A 16,490 | 16,490 | 16,610 A
2 I BT o) 0] - 3 630 630 | 650 8.32 8.32 8.02 v - - - 24,800 | 24,800 | 24,800 - 17,200 | 17,200 | 17,200 -
3 5 o & o - 3 630 | 630 | 650 7.44 711 6.57 v - - - 19,300 | 18,300 | 18,200 v 21,300 | 20,300 | 20,200 v
4 ® W W ) - 3 630 630 | 650 7.10 7.10 7.10 - - - - 20,400 | 20,400 | 20,400 - 14,500 | 14,500 | 14,500 -
5 F OB W (0] - 3 630 | 630 | 650 7.56 7.29 7.75 A - - - 25,400 | 25,500 | 27,900 A 17,500 | 17,100 | 18,000 A
6 = O# W - [¢) 4 630 630 | 650 5.60 4.90 5.50 A 28.40 | 25.60 | 28.70 A 24,000 | 21,100 | 23,600 A 17,100 | 14,800 | 16,000 A
7 ® ®m W (e} — 3 630 | 630 | 650 7.21 7.21 730, - - - - 24,500 | 24,500 | 24,500 ~ 16,920 | 16,920 | 16,920 -
8 woOm W ) - 3 630 630 | 650 7.7 7.08 7.35 A - - - 21,380 | 19,810 | 21,040 A 23,740 | 21,720 | 22,900 A
9 m B W o = 3 630 | 630 | 650 8.10 7.80 7.56 v = - - 30,120 | 28,200 | 28,500 A 21,600 | 19,200 | 18,420 v
0| E/@ xR @ e} - 3 630 630 | 650 7.30 7.10 7.10 - - - - 28,600 | 28,600 | 28,600 - 19,900 | . 19,900 | 19,900 -
155 (o) - 3 630 630 | 650 7.40 7.06 7.12 A - - - 25,851 | 24,469 | 24,963 A 17,418 | 16,432 | 17,314 A
16 | ®m @ 2 & - le] 3 630 630 | 650 6. 61 6.84 7.24 A - - - 28,632 | 29,303 | 30,374 A 22,684 | 24,521 | 25,394 A
51 s - (o] 4 630 630 | 650 |  6.54 6.54 6.54 - 19.10 | 19.10 | 19.10 - 21,200 | 21,200 | 21,200 - 22,400 | 22,400 | 22,400 -
5. | @ B W - le] 3 630 630 | 650 7.12 7.12 112 - - - - 24,300 | 24,300 | 24,300 - 23,000 | 23,000 | 23,000 -
53 | Kk @& I e (o) 3 630 630 | 650 8.00 8.00 8.00 - - - - 26,000 | 26,000 | 26,000 - 21,000 | 21,000 | 21,000 -
13 | X W i H = () 3 630 630 | 650 6.39 6.39 6.39 - - - - 26,800 | 26,800 | 26,800 - 18,500 | 18,500 | 18,500 |- -
14 | A @ 0 B = () 3 630 630 | 650 7.41 7.41 7.41 - - - - 29,993 | 29,993 | 29,993 - 24,362 | 24,362 | 24,362 -
17 | # F - e) 4 630 630 | 650 6.20 6.20 6.20 - 39.00 | 39.00 | 39.00 - 26,600 | 26,600 | 26,600 - 29,400 | 29,400 | 29,400 -
18 | =54 @ R B = (o] 4 630 630 | 650 5.41 5.41 5. 41 - 10.40 | 10.40 | 10.40 - 26,300 | 26,300 | 26,300 - 20,300 | 20,300 | 20,300 -
2 | % & & - o 3 630 630 | 650 4.00 3.00 3.00 - 20.00 - - 20,000 | 20,000 | 20,000 - 20,000 | 20,000 | 20,000 -
28 | W K H - e} 3 630 | 630 | 650 7.00 7.00 7.00 - 22.00 - - 26,000 | 19,200 | 19,200 - 30,000 | 21,000 | 21,000 -
24 | W ¥ HT - ) 3 630 630 | 650 7.85 7.85 7.85 - - - - 26,000 | 26,000 | 26,000 - 25,000 | 25,000 | 25,000 -
25 | m oW m oA - 0 3 630 | 630 | 650 6.00 6.30 6.45 A 10.00 5.00 - 23,200 | 23,200 | 23,200 - 21,100 | 21,100 | 21,100 -
0 | B | OE - o 3 630 630 | 650 3.90 4.20 4.40 A - - - 11,700 | 11,800 | 11,800 - 12,500 | 12,200 | 12,400 A
8 | mR B K R - (e} 4 630 | 630 | 650 6.70 6.70 6.70 - 32.00 | 32.00 | 32.00 - 24,900 | 24,900 | 24,900 - 19,200 | 19,200 | 19,200 -
49 W % - le) 4 630 630 | 650 5. 60 4.90 5.30 A 32.20 | 29.00 | 31.00 A 23,600 | 21,000 | 23,000 A 17,600 | 15,600 | 16,100 A
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REERRIRE (B) OMBRE [ROABHEXIES] (FETH)

REEH i FRERIRESE 7’ BB ) X
RErE P (7)) D3l E (FA) FEE (%) HEE (%) HEE () TEE (A,
& 5 kS RO3—R04 R03—R04 R03—R04 RO3—R04

H 5 RO4 R02 RO3 RO4 RO2 RO3 RO4 1 RO2 RO3 RO4 1 RO2 RO3 RO4 39 R02 RO3 RO4 R
1 ®oO#M () o 3 190 190 200 2.83 2.83 2.82 v = = = 8,870 8,870 9,200 A 6, 000 6, 000 5,930 v
2 i T ) (@] = 3 190 190 200 2.85 2.85 2.70 v - = - 8,600 8,600 8,600 = 6, 000 6,000 6, 000 -
3 # W W (@] i 3 190 190 200 2.82 3.05 2.48 v = = = 7,600 8,000 7,500 v 8,300 8, 700 8,200 v
4 ® OB W o) - 3 190 190 200 2.69 2.69 2.69 - - - - 7,700 7,700 7,700 - 5,500 5,500 | 5,500 -
5 T B W O = 3 190 190 200 Zaih 2.89 2.78 v = = - 9,100 9, 700 9, 600 v 6, 300 6, 500 6,200 v
6 - - le) 4 190 190 200 2.20 2.30 2.20 v 11.00 11.40 | 11.30 v 9,300 9, 400 9,300 v 6, 600 6,600 | 6,300 v
i . m W (@] - 3 190 190 200 2.78 2.78 2.78 - = = - 9, 250 9, 250 9, 250 = 6, 390 6,390 6, 390 =
8 b B W (@] = 3 190 190 200 2.83 2.83 2.80 v = = = 7,740 7,740 7,930 A 8,670 8,670 8,570 v
9 1) B bl O e 3 190 190 200 2.70 2. 60 2.35 v = = - 10, 560 9, 480 8,520 v 6, 960 6,120 5,520 v
0 | &M@ x @ ) - 3 190 190 200 2.30 2.30 2.30 - - - - 9,200 9,200 9, 200 - 6, 600 6,600 | 6,600 -
15 A L (e} = 3 190 190 200 2.82 2.82 2.14 v = = = 9, 551 9, 551 9,502 v 6, 435 6, 435 6,149 v
16 "B 3 - o 3 190 190 200 2.04 2.07 2.25 A - - - 8,827 9,084 9, 665 A 6,993 7,489 | 7,701 A
51 2R &% W &= @] 4 190 190 200 220 2.20 2.20 & 6.40 6. 40 6.40 3 7,200 7,200 7,200 = 7,600 71, 600 1. 600 %
5 | @ B - o) 3 190 190 200 2.83 2.83 2.83 - - - - 10,100 | 10,100 | 10,100 - 6,100 6,100 | 6,100 -
53 A ® oW e O 3 190 190 200 2.20 2.20 2.20 = = = = 7, 800 7, 800 7, 800 = 6, 000 6, 000 6, 000 =
13 X Wbos HT T (@] 3 190 190 200 2.41 2.41 2.41 = = = - 9,900 9,900 9,900 B 6, 800 6, 800 6, 800 -
14 A @ o B e o] 3 190 190 200 2.42 2.42 2.42 = = = - 10, 351 10, 351 10, 351 = 8,088 8,088 8,088 =
17 # F B - o 4 190 190 200 2.10 2.10 2.10 - 6.00 6.00 6.00 - 7,800 7,800 7, 800 - 7,200 7,200 | 7,200 -
18 A B R A = 9] 4 190 190 200 2,23 2.23 2.23 = 5.36 5.36 5.36 i 10, 700 10, 700 10, 700 = 8, 200 8, 200 8,200 =
22 = ® B - le) 3 190 190 200 3.00 3.00 3.00 - - - - 7,700 7,700 7,700 - 7,500 7,500 | 7,500 -
23 1 = H £ O 3 190 190 200 2.20 2.70 2.70 s 8.00 = = 8, 000 7, 800 7,800 = 7, 800 9, 000 9,000 =
24 | ® ® B - e) 3 190 190 200 2.45 2.45 2.45 - - - - 9,000 9,000 9,000 - 7,000 7,000 | 7,000 -
25 Mol oR s o O 3 190 190 200 1.60 1.80 1.95 A 11.00 5.50 - 7,300 7,300 7,300 = 6, 100 6, 100 6,100 =
0 | & B/ E - le) 3 190 190 200 2.90 2.90 3.10 A - - - 8,300 8,100 8,100 - 8,800 | 8,300 [ 8,500 A
48 2B R R = (e} 4 190 190 200 1.70 1.70 1.70 s 8.40 8.40 8.40 < 6, 600 6, 600 6, 600 & 5, 100 5,100 5,100 2%
49 5 M 5 - 0 4 190 190 200 2.10 2.10 2.10 - 10.90 12.70 | 12.70 - 8,300 9,500 9,500 - 6, 400 6,900 | 6,900 -
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RERFARIRE (B) OEBRRE [(NFES]  (FETH)

AR 8] fit SRR %R 7' B H B =
BEE oo o. . | B OR | mE M) el (%) AEE (%) %8 () THH (A,
EF 5 ES RO3—R04 R03—R04 RO3—R04 RO3—R04
o E5 1] RO4 RO2 RO3 RO4 RO2 RO3 RO4 R RO2 RO3 RO4 1w RO2 RO3 RO4 b §o4 RO2 RO3 RO4 b B
1 ®O® W (o] - 3 170 170 170 2.53 2.53 2.56 A - - - 9,410 | 9,410 [ 9,970 A 4,750 | 4,750 | 4,910 A
2 R BT ) l¢) - 3 170 170 170 2.38 2.38 2.38 - - - - 9,200 9,200 | 9,200 - 4,600 4,600 | 4,600 -
3 % @ 0 - 3 170 170 170 2.73 3.21 2.55 v - - - 8, 800 9,900 | 9,700 v 7,200 | 8,600 | 8,500 v
4 #® O W (@] = 3 170 170 170 3.04 3.04 3.04 = = & = 10, 500 10,500 [ 10,500 = 5,400 5,400 5,400 =
5 F ok o - 3 170 170 170 2.67 2.87 2.97 A - - - 10,900 | 11,800 | 12,200 A 5,500 | 5,900 | 6,000 A
6 - S - le) 4 170 170 170 2.20 2.00 2.30 A 13.90 15.80 | 16.00 A 11,100 | 11,300 | 12,000 A 5, 600 5700 | 6,100 A
7 ® m W o - 3 170 170 170 2.69 2.69 2.69 - - - - 11,050 | 11,050 | 11,050 - 5,560 | 5,560 | 5, 560 -
8 woOoWm o) - 3 170 170 170 2.69 2.69 2.69 - - - - 7,760 7,760 | 7,760 - 6,100 | 6,100 | 6,100 -
9 m B W le) - 3 170 170 170 2.40 2.70 2.62 v - - - 11,870 | 11,400 | 11,220 v 6,100 | 5640 | 5,580 v
0 | & @ x @ o) - 3 170 170 170 2.20 2.20 2.20 - - - - 10,300 | 10,300 | 10,300 - 5,100 5100 | 5,100 -
BRG] B (o] - 3 170 170 170 2.70 2.70 2.89 A - - - L1 | o i A 5583 | 558 | 5,605 A
16 | = B @ = o 3 170 170 170 2.04 2.07 2.25 A - - - 9,944 | 10,059 | 13,423 A 5,575 6,507 | 9,020 A
51 "R #®H = o) 4 170 170 170 2.10 2.10 2.10 - 6.50 6.50 6.50 - 9,600 | 9,600 | 9,600 - 6,600 | 6,600 | 6,600 -
52 3] £ W = O 3 170 170 170 2.20 2.20 2.20 = - = = 11, 500 11,500 [ 11,500 - 6, 300 6, 300 6, 300 =
53 K % Ji W = O 3 170 170 170 2.40 2.40 2.40 23 o2 = = 9, 400 9, 400 9, 400 = 5, 200 5,200 5,200 -
13 PRIy - ) 3 170 170 170 2.49 2.49 2.49 - - - - 11,400 | 11,400 | 11,400 - 5500 | 5,500 | 5,500 -
14 | & @ W B - o 3 170 170 170 1.86 1.86 1.86 - - - - 9,420 | 9,420 | 9,420 - 7,618 7,618 | 7,618 -
17 # F O - o 4 170 170 170 1.30 1.30 1.30 - 4.70 4.70 4.70 - 8,800 [ 8,800 [ 8,800 - 5,900 | 5,900 [ 5,900 -
18 | ¥4 HERAE - o 4 170 170 170 2.31 2.81 2.31 - 8.01 8.01 8.01 - 13,700 | 13,700 | 13,700 - 7,300 | 7,300 | 7,300 -
2 | & ® & - o 3 170 170 170 1.20 2.20 2.20 - - - - 7,200 7,200 | 7,200 - 4,100 4,100 | 4,100 -
23 0 o By e (@] 3 170 170 170 1.40 2.50 2.50 = 6.00 5 e 7,800 10,200 | 10,200 = 17,200 11,400 | 11,400 -
24 | & ¥ ET - f¢) 3 170 170 170 2.20 2.20 2.20 - - - - 9,500 9,500 | 9,500 - 5,500 | 5,500 | 5,500 -
25 W ow N E2 O 3 170 170 170 1.10 1.40 1385 A 9.00 4.50 -~ 6, 800 6, 800 6, 800 = 5,100 5,100 5,100 o
0 | |/ E = le) 3 170 170 170 2.90 2.90 3.60 A - - - 12,100 | 11,800 | 12,600 A 6,400 | 5,900 [ 6,300 A
48 ® A K B e (@] 4 170 170 170 1.70 1.70 1.70 = 8.40 8.40 8.40 = 1,200 7,200 7,200 - 4,300 4,300 4,300 =
49 | 5 8 B A - (@) 4 170 170 170 1.80 1.80 2.00 A 15.00 15.00 | 17.00 A 11,600 | 11,600 | 12,500 A 6, 400 6,400 | 6,500 A
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